
U3(7).2 (mod 43)

blocks defect matrix

G : 1 1 13× 6
2 0 431 = χ3,0, ϕ3,0

3 0 432 = χ3,1, ϕ3,1

4 0 861 = χ4+, ϕ4+

5 0 862 = χ6+, ϕ6+

6 0 863 = χ8+, ϕ8+

7 0 2581 = χ10,0, ϕ10,0

8 0 2582 = χ10,1, ϕ10,1

9 0 2583 = χ11,0, ϕ11,0

10 0 2584 = χ11,1, ϕ11,1

11 0 2585 = χ12,0, ϕ12,0

12 0 2586 = χ12,1, ϕ12,1

13 0 5161 = χ13+, ϕ13+

14 0 5162 = χ15+, ϕ15+

15 0 3011 = χ17,0, ϕ17,0

16 0 3012 = χ17,1, ϕ17,1

blocks defect matrix

17 0 6021 = χ18+, ϕ18+

18 0 6022 = χ20+, ϕ20+

19 0 6023 = χ22+, ϕ22+

20 0 3441 = χ25,0, ϕ25,0

21 0 3442 = χ25,1, ϕ25,1

22 0 3443 = χ26,0, ϕ26,0

23 0 3444 = χ26,1, ϕ26,1

24 0 6881 = χ27+, ϕ27+

25 0 6882 = χ29+, ϕ29+

26 0 6883 = χ31+, ϕ31+

27 0 6884 = χ33+, ϕ33+

28 0 6885 = χ35+, ϕ35+

29 0 6886 = χ37+, ϕ37+

30 0 6887 = χ39+, ϕ39+

31 0 6888 = χ41+, ϕ41+

32 0 6889 = χ43+, ϕ43+

Block 1: ϕ1,0 ϕ1,1 ϕ2,0 ϕ2,1 ϕ24,0 ϕ24,1

11 = χ1,0 1 . . . . .
12 = χ1,1 . 1 . . . .
421 = χ2,0 . . 1 . . .
422 = χ2,1 . . . 1 . .

3431 = χ24,0 1 . . . 1 .
3432 = χ24,1 . 1 . . . 1
7681 = χ45+ . . 1 1 1 1
7682 = χ47+ . . 1 1 1 1
7683 = χ49+ . . 1 1 1 1
7684 = χ51+ . . 1 1 1 1
7685 = χ53+ . . 1 1 1 1
7686 = χ55+ . . 1 1 1 1
7687 = χ57+ . . 1 1 1 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ2,0 = 421
ϕ2,1 = 422
ϕ24,0 = 3421
ϕ24,1 = 3422


